	Faults and Topography

	Worksheet:

Answer Key
	Student Name: ___________________________

Teacher: ________________________________


Date: ___________


	Faults and Topography: Worksheet, Modeling Faults



Modeling Faults
1. Find points A and B on your fault model.  Move Point B until it’s next to Point A.  Look at your model from the side (its cross-section).  Then answer the questions below!
a. Which way did Point B move in relation to Point A?


Point B moved down toward A.
b. What happened to the rock layers (X, Y, and Z)? 


There is a vertical break in them – they’re no longer continuous.
c. Are the rock layers still continuous?

No.
d. What likely happened to the river?  The road?  The railroad tracks?


The river likely stops flowing after the fault because of the direction of flow (see 
arrow on the fault model).  The road and railroad tracks are still aligned, but they 
are impassable because of the vertical drop.
2. Find points C and D on your model.  Move Point C next to Point D.  Look at the cross-section of your fault model.  Then answer the questions below!
a. Which way did Point D move in relation to Point C?


Point D moved down toward C.
b. What happened to the rock layers (X, Y, and Z)?


There is a vertical break in them – they’re no longer continuous.
c. Are the rock layers still continuous?


No.
d. What likely happened to the river?  The road?  The railroad tracks?



The river likely keeps flowing because of the direction of flow.  It will likely form 

a tiny waterfall over the fault.  The road and 
railroad tracks are still aligned, but 


they are impassable because of the vertical drop.
3. Find Points F and G on your model.  Move Point F next to Point G.  Look at the cross-section of your fault model.  Then answer the questions below!

a. If you were standing at point F looking across the fault, which way did the block on the opposite side move? 

It moved to the right.
b. What happened to the rock layers (X, Y, and Z)? 

They shifted in the horizontal direction only – they are still continuous.
c. Are the rock layers still continuous? 

Yes.
d. What likely happened to the river?  The road?  The railroad tracks? 

The river likely makes a new river path.  The road and railroad tracks are on the 
same horizontal plane, but they aren’t aligned.  The two ends will break apart and 
be impassable.
e. If the scale used in this model is 1 mm = 2 m, how many meters did the earth move when this fault caused point F to move alongside point G? (Note that this scale would make an unlikely size for the railroad track!)

About 20 miles.
4. Based on what your learned in the presentation, what kind of fault is 1/2 and 3?

Faults 1 and 2 are dip slip faults.  Fault 3 is a strike slip fault.
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